3.2 Function Notation Worksheet

Name W

e

g(x)=-3x+1

1. Evaluate the following expressions given the functions below:

12

f(x)=x*+7 h(x)=—
x

Jj(x)=2x+9

a. g(10) =-3(10) +|
9(10) = -30+1 =[-24

b. f3) = &= 4]

¢ h(-2) = |2

(D =Eu]

d. j(7) = 2.(7)+4

JOD=14+9 =[73]

f. Findxif g(x)=16
[p=-3x+I

g. Find x if A(x)=-2

h. Find xif f(x)=23

i. Find x if j(x)=19

-2 =12 ml 23 =X*1 (4 =2x+9
X = |l =x? (0=2X%
—2X =12 (X =] IX=5

3. Given this graph of the function f(x):

Evaluate each of the following:

CACD,
=t

f.x, when f(x)=4

X=-2

a. Write the domain of f(x):

Xe R

b. Write the range of f(x):

ye (-co, H]

d. f(0)

f(0)=3

g. x,when f(x)=-1

X =2

e. 1(2)

f(2) = = |

4. Swine flu is attacking Porkopolis. The function below determines how many people have swine where ¢
represents the time in days and S represents the number of people in thousands.

a. Find S(4).

S(H)=a(+) -+

S(t)=9—4

s(4) =32

b. What does S(4) mean in the context of the problem?

APtr = dows, 32 peopl nad the swing v

c. Find t when S(f) = 23.

2%2=9t-4 -2

2129t




